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A DOT STRUCTURE FOR A POLYAT Mlb [@))
i +
NN . . IN[ " Y
(1) Count valence electrons ‘
ot INER™S
Al ] ‘ l . l I\‘ b 7
(9 Pick central atom and draw L_I'Iy\H_
/ skeletal structure Ul
al s | An odd number of electrons ut Lewis|struct
- central atom is ' N1 dealin PAIRSof electrons!
usually the one tha \
needs to gain-the —
L P % Pt Subtract one electron from the total to get the
Opl ClEUirons correct charge ( 1) on'thelion
- skeletal structure
has all atoms|connected ,
to center with single ml
oY Aa
MUTIU
1 — . . . .
' Draw brackets around charged
N o I~ _— H species and indicate the overall
2 istribute remaining valence =\ charge!
—/ | electrons around structure, \
outer atoms first. Follow |
octet rule until you
run out of electrons.
T\ Check octet rule - each atom
\'4}<:h uld have alchare i alectrone
\ 4 A Al | L 1 A JiTAa 7 A4 ALIA~ 4 I A 4
J (L] ~Ate DN\ : ~F Al Al AL A
\I_I gdlo 4:}. 1T T1OL, [IdAC UOUDIC
or triple bonds
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